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6. After the Iast bell is rung at 12.30 p.m., stop writing on the OMR answer sheet and affix your left hand thumb impression
on the OMR answer sheet as per the instructions.

7. Hand over the OMR ANSWER SHEET to the room invigilator as if is.

8. After separating the top sheet (KEA copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you to
carry home for self-evaluation.
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An atom consists of protons, neutrons and (C) Load Commutation

. electrons. Which of the following statement is elpe® E:‘adnéas" e3¢
true ? .
SORTeEDN) BPETT mﬁ@ 5 D (D) Supply Commutation

N Sealf SodytIedF

Qd%ﬁs nYod eNT. 3 Bped I
Be03rVO 0ind Be9s FOUAG 9 4. Which of the following Vitamin is obtained by

our body from sun light ?
DB Bews, FRALE STLrLon dednd

(A) Protons are negatively charged.

S3ReEIIR’ ML e IT)We03 BP0V QLR YD ?
(B) Electrons are negatively charged and (A) Vitamin — A
present inside the nucleus. QDT — O
059 & ML ey IBYT03 BB o
= = (B) Vitamin — B
ﬁ%%oba‘ N wend @3 JBDF_ D
(C) Neutrons are electrically neutral. (C) Vitamin — C
SRETYRF NMed B3 seanvana DBV _ S
(D) Neutrons are revolving around the (D) Vitamin — D
nucleus. AT _ 8
SREINT MY [RSALTE ), DRSS 4
S. < (1-s)
. Boolean expression @é}\ystem has the transfer function a+a) It
XYZ +XYZ +XYZ +XYZ +XYZ 0 is callad
can be simplified to (‘-j?“ e 1-s) 20 OB
3YNI ROLLRF ODT BT, IIFS ’ MoFeE SoabE ars) °°
@t AMad evdo && dédw—;oi)@{ OJ0B) 3BT
XYZ +XYZ +XYZ +XYZ +XYZ & (A) low—pass system
(A) XZ +XZ +YZ low—pass ;7
B) XY+YZ +X7 (B) high—pass system
_ high-pass S&
©) XY+YZ +XZ Hpas
_ _ (C) band—pass system
D) XZ +YZ +YZ band-pass S
.In a thyl_jsto? DC _chopper which type of (i3 sl passspstem
commutation results in best performance ? 3 5
B,0580° DC @eesct SO ana 3083 all-pass NG
mdnéaéeﬁa‘ B B0DE Qﬁ?ﬁﬁ&bd& 6. "Jaimini Bharata" was written by
25, 0B WTTSH
FRBT ?
_ (A) Kumara Vyasa
(A) Voltage Commutation 253793 mﬁ@
aped g2 SR EIeB’
_ (B) Lakshmeesha
(B) Current Commutation 0 ¢3
33065° S EIe TS ®
(C) Ranna

2 MASTER



o8
(D) Pampa

DOD

7. For a given discharge, efficiency
sedimentation tank can be increased by

BRI TS BOWNIBT  sedimentation tank &
SaodF 5&)5?&"0&)@{ 003 B TWBD

of

(A) Increasing depth of tank
tank S B8¥YS) B3 DHYHBO0T

(B) Decreasing depth of tank
tank S BYSJ), 3B SeDIHBO0T

(C) Increasing surface area of tank
tank R DeEF B DYBO0T

(D) Decreasing surface area of tank

tank & Aeef 3BD IDRTO0T

. The nuclear scientist who was executed by
Iranian government for revealing the country’s
top secrets to the enemy is

70e33 ddﬁéﬁ?@{ 3R)yNeN Vel
amdérﬁaeﬁﬁd riwm é'béri‘ WEMIT QU C;

9€ a@a oo 2 &?”

LN

(A) Shahram Amiri
FBToRF 3O

(B) Shahim Imam
0% @TeeF

(C) Mohsen Fakhrizadeh
BRBIN® B3TT

(D) Imam Haidir1
QR B0

. Bankelman beam deflection method is used for
design of

Bankelman beam deflection PSS,
design S73e0 eV@AdRENTITIMBT

(A) rigid overlay on rigid pavement
BT 2I0° &J 37 ORATF D D0EF

(B) flexible overlay on flexible pavement

cg—-”mc?;uuu‘ 2030° J e3f ﬁmi’;\,wu‘ DS DO

(C) flexible overlay on rigid pavement
P30 2T J 8 OB T DHoesF

(D) rigid overlay on flexible pavement
OB 0I0° &J 87° FB3 WO T DoesF

10. The purpose of using flux in soldering is to
T o’ BO P, J) WYL LVTeS

(A) increase fluidity of solder material.
Te)T° ehededaber 3 BOWNIBDT
B3 TV

(B) fill up gaps left in bad joints.
Bvriod SorbnvR Swed e

(C) to prevent oxides forming.

eséméta‘ emagda"odmg{ &?ﬁw

(D) lower the melting temperature of solder.
To0° J BOMSD SoBeIoRB), BB

Q/\Sx\aimdw

&1. The dynamic characteristics of capacitive

transducer are similar to those
By dede’ &9 =, BRR0° 3 Bood) B
LZENH BO BRI
(A) Low pass filters
dee TRF d O
(B) High pass filters
®4TOR° DT
(C) Notch filters
JoF dV T
(D) Band stop filters
33%033‘ T SV T

12. A periodic function f(t) having a time period
T, repeats itself after half time period T/2.
The Fourier series of f(t) would contain

IDDT 9T T BRODTIE periodic function
fit), 33 T2 IDDT I J033
DN0BBEATT 3T FpedobT ITEd  f{t)
odw

MASTER



(A) cosine terms only

cosine terms S79B) BRODDHST

(B) odd harmonic terms only

odd harmonic terms &798) BRODDHIT

(C) sine terms only

sine terms &) TR ODDHBT

(D) even harmonic terms only

even harmonic terms &793) B OOIBT

13. While designing controller, the advantage of
pole—zero cancellation is that

QoD0oB)IYY TR Bed@ent  pole—zero
AYY Sricwhddod srda vbaEeVrwd

(A) the system order is increased
system order &39S

(B) the system order is reduced

system order 3BEHIT

(C) the cost of the controller becomes low

Q0H0B 3T I, BB ATNH3T

(D) system'’s error reduced to optimum levels

system’s GRERR) 3BAA vrdeesd,

28 BB &?”

14. Given two coupled inductors L; &lﬁ;.&their
mutual inductance M satisfies

O0R) BBF BB D L, DB L, |
PNy Bedobe BB, M 9

On- T

®)y> L+l

©m> L,
O)Mm< [L,L,

15. Fins are provided over engine cylinder of a
two wheeler for

0,38 203IT ROV’ AO0BT* et SF
AYR) WD evcied

(A) higher strength of cylinder
DOOBT* 3 strengﬂl ézé;ﬁw

(B) better cooling
V3R POOTT e

(C) good appearance
BN Bacaew

(D) higher efficiency
3B B3 Ve
16. In impulse reaction turbine pressure drops in
Q0 DolyegF £323,F° JO 03T 0O
QRVIBIBT 9

(A) Fixed nozzle
T TeeSf

(B) Moving blades
PO eJerd riwd

(C) Fixed blades
éqj)d e N

G)lgoﬂl fixed and moving blades
%t‘\ed Bord) BOWT e N

In order to avoid interference for 20" pressure

angle, minimum number of teeth should be
20° DRO° aonef ried® IO ROLBFORE, B

3330 e RBLDTIB aaaé rieo® edec sl
50332.].

(A) 12

(B) 18
(C) More than 11
11 3,03 T2d)

(D) Less than 18
18 3,03 38D

18. Factor of safety is the ratio of
B FYNS 0P TT 9D T3 q—:aésd O° esg®

e 83w 9

(A) Yield stress / Working stress
s J,3° / SdFor' & F

(B) Tensile stress / Working stress
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as"a; s&° cu—;)m‘ | DSFOT ﬁg}m‘

(C) Compressive stress / Working stress
308, ea’ & &F / Bdeort J 2°

(D) Bearing Stress / Yield Stress
Jedort & & / sek J 2°

19. How many instances of an abstract class can
be created ?

20T 92F m&uag T B AR, dgmdoa’ﬁ'é#%
D) BBD 9

A)l

B)5

(C) 10

D)0

20. Dissolved oxygen in streams is

BRYNYODS Dissolved oxygen

(A) Maximum at noon
DDYB B TR B3y NDHIT
(B) Minimum at noon
DDYD,EB BB 3BDHINDST
(C) Maximum at midnight
B0e3,0d TeR) T3 NDBT

(D) Same throughout the day
DS DPASF woTe IDJNDIT

>
S

21. Software testing techniques are most effective
if applied immediately after

8 YN AT 033 To, ek
e3Q o' oYY BeBTe WYITT Bed)
20HF0NDBT 2

(A) Requirement specification
03,000° 0t T ADBeTRF

(B) Design
&w—"éa‘

(C) Coding
Bpelore

(D) Integration

)

X

Q083 eR

22. Power factor of a pure inductor is
D@8 ROTFZT* IO SB0° 93 0°

(A) 0

B) 1

V2
©1
® .5

23. For implementing
Operating System,
DO TR)ere,ONT BTee3on’ A =F

t=plelatoR s 3))

a Multi—programming

D

o

(A) Special support from processor is essential

FPVIT 0T JTewm owusd
652568?503.):3

(B) Special support from processor is not
ssential
PIJO* Q0T JTea Loweusd

OQ/ eﬂﬁb’éséd’l}g

(C) Cache memory must be available

améa‘ D3P0 853256 QTeIe:

(D) More than one processor must be available

000,038 &), Josdad SRRF0° S
Slpreila)
24. Sprinkler irrigation system is suitable, when
B NLTITO 5(‘.3&1’ JeBoN WY D
S Te3

(A) the land gradient is steep and soil is easily
erodable.

BeDah HBVB) Fedy 9B (BT3)
bR Fe0oBF), WEIS FFB

(B) the soil 1s having low permeability.

38D edBoh @eoBDE SeY.

(C) water table is low.
38 BOIT.

(D) the crops to be grown have deep roots.
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B8YDa Wed (Bwev) NYRY, BRoLDE
WIS T,

25. A diesel engine theoretically operates on
which of the following thermodynamic cycle?

@agoé&mﬁ Beef Q02 3YASI oo
BReerd;Tocdd I3 Ded U
DD3B?

(A) Constant volume

JC03T M3, (S037069)

(B) Constant pressure

AB0BT 233

(C) Constant temperature
NC033 ST

(D) Constant entropy
0033 2r@dpesg (0edRed)

26. Which of the following is not an mtermediate
code form ?

B BYNS 0T Q03T B dees®
203e3BT 230 &0 9

(A) Postfix notation
RPeF 3B IpeIeas’
(B) Syntax trees
QOEFYEE £3LMR

(C) Three address codes
3)e T3 Beet

(D) Pseudo code
K-'uaédrae (Pseudo) apesE
27. Which of the following requires a

synchronizing signal ?

8 3YNS oboa FBI A& dort
QA & BesorbSes 2

(A) Single channel PPM System
Qdorer :3JI° PPM 8T

(B) PAM System
PAM FB3

(C) PDM System

X

PDM 33
(D) PCM System
PCM &3

28. The Dewan of Mysore who had attended the
3™ Round Table Conference was

3 Je Dord e S0ISITO enTAT
;TR0 DevoID dred ?

(A) Sir M. Visvesvaraya
R0°. 0. T e3 Tl

(B) Sir Mirza Ismail
RO’ D QT ODeSf

(C) N. Madhava Rao
. FITS

(D) M. Kantha Raje Urs
ARF. Zo0BTE T’

29. Inga synchronous machine, if field flux is

@%ﬁd of the armature field axis, in the

@ irection of rotation then machine is working
0 as

Q08ReITF AT ohoBTO Heef B
esderedof deef  egTesiNoz DB)IBab
SR Swod KTV & aboBY) Soode
SRS Bedaly

)

(A) Asynchronous Motor
£90BR,ESTF BReEI0°

(B) Asynchronous Generator
908 RJITeEIT

(C) Synchronous Motor
Q0BREIXF Feee3os®

(D) Synchronous Generator
Q0BRLIT® RITeEIT

30. Double integration of a unit step function
would lead to

adwees® T & Foode B B RoLdriea’
SelBmen 8 3YNIDY) o3

(A) an impulse
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-

QOB

o

(B) a parabola
GRDReLIATOISD

(C) a doublet
IR

(D) aramp
To0&*

31. How many minimum number of flip—flops
required to store a decimal number 15 ?

B30l 15wy RorbIW 8AF ARy
Rosl,ab $a° - PaEF N Wesardaa 2

(A) 15
(B) 4
©)3
D)5

32. In a transconductance amplifier, it is desirable
to have

Transconductance amplifier 0T OII)
93 e8e3e0EN TP OTED ?

(A) a large input resistance and a small outpu (;

resistance «

B3 input resistance oD TE

/<6gtput

(B) a large input resistance and a large output
resistance

RT3 input resistance MO BAT  output
resistance

resistance.

(C) a small mput resistance and a large output

resistance
€ input resistance TorL WRT  output
resistance

(D) a small mput resistance and a small output

resistance

= - i =
D€ input resistance oML T output
resistance

33. Historical Novel "War and Peace’ is written
by
D0 90TF DT T D0 DBTOAS Sgéoi)aig{

3B3ATID

?s.

(A) Leo Tolstoy
Oalee £390° i eadF

(B) Charles Dickens
i r B3R,

(C) William Shakespeare
QOabo Fest Soho

(D) Mahatma Gandhi
BB, M0

34. The designation M33 x 2 of a bolt means
Upetf S B eas M33 x 2 9083

(A) Metric threads of 33 number in 2 cm.
2 Jee3O 33 DEdT® B N

(B) Metric threads with cross section of 33
mm - of 2 bolts.

33 1EF BT, 2R3 F93F IZ°
oVy 2 edeeef N
@etﬁc threads of 33 mm outside diameter

@ and 2 mm pitch.
QO

33 mm mdmﬁ d)@ 2 mm o Q3
D5 BT riwd

(D) Metric threads of bolt of 33 mm nominal
diameter and having 2 threads/cm.

33 mm @36% mﬁ DB 1 Ve 2 FTF
QDS DT TTF N

)

35. The path followed by a fluid particle during
its travel is called

33T 369 BOTN WD BOVT DS,
BB o) Fe3

(A) Stream line
&é)ed)‘ e,

(B) Streak line
Q85" ;=

(C) Path line
DG &I

(D) Equipotential line
@3 ZpeIoA0hef &,

36. "Vande Matram' 1s written by
MASTER



'SToTe IBT0” WOTBID

(A) Bankim Chandra Chatterjee
03RS 30T, Be3d€

(B) Rabindra Nath Tagore
B)eonven’ t39rines

(C) V. Savarkar
o). VTVBO*

(D) Sarojini Naidu
JdeeR Joaly
37. Who among the following gave two important

socio—economic principles 'Kayaka® and
‘Dasoha’ ?

T0hE DR
Srodee-sBEs BHBIT RPNV
B 3eEBDh e 9

(A) Akka Mahadevi
©8, BT )

DoRRED Q0 QTR

(B) Basavanna
WITTE

(C) Allama Prabhu
O DR
(D) Bijjala
ARY

38. A single winding single phase motor has

OB DL OB IV améas ipldxrled mg

(A) Low starting torque
3RD TC0YS £33

(B) Zero starting torque
R TTODB £305°¢

(C) High starting torque
Bed), T9,00YS 33

(D) Starting torque equal to full load torque
29,0093 £395°F DA RPOF edped 395

A ariale e

39. Which one of the following can be used to
change data from special code to temporal

¢

3.
oﬁ :

code ?
8 BYNS oYW OB, WH IR (data)
&3~ Special Code ®0B Temporal Code T
WBOTVRD 2
(A) Shift registers
% DRI
(B) Counters
F20L3R°E

(C) A/D converters
A/D BT

(D) Combinational circuits
SOOI eRI FBRFEF,

40. The reduced bearing of a line 1s N 87° W. Its
whole circle bearing is

0% Besfad  Reduced bearing N 87° W

8830 &3@3 whole circle bearing

(C) 93°
(D) 273°

41. The basic for measuring thermodynamic
property of temperature is given by
8 BYNS 0o 355000 eed

Thermodynamic property of temperature 33{
97 0eTINBT ?

(A) Zeroth law of thermodynamics
dd@egdémd’bﬁz S Zeroth ~od

(B) I law of thermodynamics
Baeerd;Tocd’ 3 Sptoe Joba

(C) II law of thermodynamics
BReerd ;D3 3 Q0BT Aobad

(D) III law of thermodynamics
BReerid ;D3 3 SwedTe dobad

42. Percentage of total sediment flow depositing
in the reservoir is called its

27930030 O IBA0T FeaTmeorda
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e, DBOD Tenmomod TR eed,
o™y 9T

(A) Capacity — inflow ratio
BYTOELS — A e VDTS

(B) Sediment coefficient
RBD0EF BRIHDAD0EE

(C) Displacement efficiency
B BT DOEF A0

(D) Trap efficiency
E39,° DDA,

43. Which of the following is the unit of
Kinematic Viscosity ?

81 VNS Ao 3,;Fe9,E3s° IR, edE3
ad 0dwAesF N 9

(A) Pascal
DR, °

(B) Poise
@oadsf

n

(C) Stokes
R e3°
(D) Faraday
9,03
44. The Crowning on pulley helps
QYL B0t SR PBO0T

(A) increase in velocity ratio

SeMmDT3 Hed) 3T

(B) decrease in slip of belt
Bef 3 I 3BArBT

(C) automatic adjustment of belt position so
that belt runs centrally

Bef S 3 I, 0bosed3men
BROTEIBANBE RBOT B YO
DBBO BODBT

(D) increase belt and pulley life
B DR) DOD Be)BoTO Hed) BT

45. The chemical formula of table salt is

)

R GV R TT0DAS T3, YD 2

(A) NaOH
(B) NaC/
(C) CCl,4
(D) H,S0,4

46. Consider a system with the transfer function

G(S) = . Its damping ratio will be

KS* +S+6
0.5 when the value of K i1s

n—g%oéd DRI F0FT WwOTD dd@éojmg{

S+6
20neddmn G(S) = T RTIT @33
B0 ODTBY) 0.5 BWen W3 K
TR
@) 2
6

6

&
S

?903)6

47. Slump Test is a measure of
Slump Test ~OT

SZIOWIAT A

(A) Tensile strength
e O° cu—;)om‘

wdg{ 30

(B) Compressive strength
3080 IJ,05°

(C) Impact value
QODYT*, Do)
(D) Consistency
333A
48. In machine tools, Chatter is due to
AR’ L3R MY 2L3T° YVOEIITDT FoTE?
(A) Free Vibration
EAEARA
(B) Random Vibration
To0BRSF 3523 emF
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(C) Forced Vibration
RPETET T o3 e’
(D) Self excited Vibration
Ve 0B (LITF 25, em’
o) o

49. Lateral earth pressure distribution due to soil
on a retaining wall is

33rReBohO 03 F DN wIBG 8528
Clpleiring

(A) Rectangular
I BB,

(B) Triangular
3,30e050

(C) Trapezoidal
e3,@ Queodesr

(D) Parabolic
GEReLIATRIIL

50. Which of the following 1s the award

associated with film Industry ?
QRNFO AJFD7e FeBB, Fo0RIDS T3
oY ?
(A) Sir M. Visvesvaraya award
RO, 20. )T 3Bl T3
(B) B.C. Roy award
(C) Ekalavya award
QBOT; T3
(D) Dada Saheb Phalke award
Do ToBeYF Hot, B3R

51. Which one of the following formula indicates
load factor ?

8 3YNS IO

RPUSE o3,

D

Load Factor

(A) Live Load
Dead Load

(B) Failure Load
Working Load

?s.

)

10

QO

(C) Total Load
Dead Load

(D) DeadLoad
Live Load

52. The correct order of capillary rise
increasing order in different types of soil is

QP Oedad DEVNYO  capillary rise S
0035 508 33 KOS Bess

n

(A) fine sand, clay, silt, colloids

B4 T0T, Be, At Breoady .
(B) silt, fine sand, clay, colloids

L, T 00T, Be, Apewrandy
(C) fine sand, clay, colloids, silt

D5 TY0TF, Be, BpeJadF | .
(D) fine sand, silt, clay, colloids

B, DYOT’, A, e, Fpetrandy .

53 ich University gave the honorary
%ctorate to Veteran Kannada actor Dr. Raj
@ umar ?

dedd DR0I0B JE3TITW To. DoF DI 0°
T30rt P03 @3 Tees® el azgjaméooia
o@D 9

(A) Bangalore University
Borised I3 dmeead

(B) Mysore University
;D) B dT 0

(C) Karnataka University
BVIFEIB B TR

(D) Mangalore University
onwed I3 oy

54. Who was the man of the match when India
won the First World Cup in Cricket against
West Indies in 1983 ?

1983 SO B Q0B DT 3903 eV

3Bt I3z’ N3 8,30 BoTBO

RVDATREBD B3 DBTI adred) ?
(A) Kapil Dev

=
c.oOtjES
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3dHer deaf

(B) K. Srikanth
3. 3,850

(C) Mohinder Amarnath
BR&OTT* 9HTNG*

(D) Sunil Gavaskar
D eeF Moz, 0

55. Cyclomatic number in software testing refers
to

Doz, @e’ 3 on' IO J;8Reheds’ Josl
Clelale)

(A) number of functions
POZN* NY T0&;

(B) number of statements
< ee3 o3 Ny Josl;

(C) number of independent paths
R,B03) @og* N¥ T0&J,

(D) number of jobs
B3, BOINY T0sd,

Poisson's ratio ? &&
&8 B3 Poissons Ratio DS 3@&,;

(A) Rubber Section Engineer & Station Controller

QO
X

56. Which material has the highest value 0?*

(A) Magnetic field
Zo03ead 3e3,

(B) Electrostatic field
QIER, T IT;, BeT)

(C) Thermo—electric emf
Eﬁme‘r‘ad%ﬁ‘ emf

(D) None of these
QRIMYO Ao 90

58. Laplace transform of the signal
x (t)=tu(t) » cos 2w t u(t)
will be
BYNS AN ° S Ve’ Tpme03T

x () =tu(t) + cos 2x t u(t)

(A) 1
s(s>+41)
(B) 2n

Ji:(s:+4rr:)
&
O 3

59. Who among the following did not participate
in 1857 India's First freedom war (Sepoy
Mutiny) ?

Oy o° POST Offline & Online Classes 81 BY508 0o & 1857 O WeU33 &SRB
1. Seclion Engineer
03) WOOd Z.Bln!iancnnlrollurméﬁh:.}el . mﬁ’go%{g ﬁon?)d) (&m&) dOﬁ) dO‘;
o . Coaching oSBTV 9
236 TR oot ]
(C) Copper  application Last ate £LUIELLS (A) Jhansi Rani Lakshmi Bai
=% T,T.T ACADEMY Bengaluru-58 dred, Toel £33, wrocd
(D) Steel ~ [ TECHNICAL TEACHING & TRAINING ACADEMY ] (B) Tippi Stltan
UUSJé Contact for Details : 9986869966 / 9986869955 £330, DeTIRF
57. Air friction damping should not be used (C) Tatya Tope
where the deflecting torque in the instrument 533, t1oes
1s produced due to g
BT 0rf £395°F GLB B0IrerhEs YVTBTETO (D) Kanwar Singh
33,0 dorf

mP arsod méoc?:on‘ eﬂﬁg{

VD 03ReNT2IITT), S0

1

60. Carbon Steel 1s
ZoE J{;J eess ﬁg{
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(A) made by adding carbon in steel
FowER’ J) et IO Jed

Sreduerh 3

(B) refined from cast iron
SR’ 0T 08 F0R,DDJHT

(C) alloy of carbon and iron with varying
quantities of Phosphorus and Sulphur.

QG BB oS DR NOFS DS
FOWER' DB DO S DIJjedeed

(D) extensively used for making cutting tools
BE30M’ €30 NYRY, eerD Dy BTN

WYRINBT

61. Which of the following need not be a binary
tree ?

8 YN alrePcd 23,700 e3¢ esriede
ﬁemﬁd)d)atg 2

(A) Binary Search Tree
23,00 eI ede

(B) Heap
L

(C) AVL-Tree
D ) dEF _e3e

(D) B-Tree
D —e3e

62. Hormone that helps the body react to danger
18

81 BYNI abyoe3 Bocleer D BDDFR,
00T B SeB3, B)S3,0DTe
VDSODBT 9

(A) Prolactin @pe93~°

(B) Adrenaline 88700’

(©) Insulin @~ OFF

(D) Thyroxin &;dReed~*

63. The minimum number of temporary variables
needed to swap the contents of two variables
18

12

QO

TR Sedobref NYODHE JROLITRY,
o3 - WBTALRD BeSNDS Toz9,O3
Sedodrier nY 8 B8l

(A) 1

(B)2
€)3

D)0
64. The transfer function of a linear system is the

Oedoh ot dd@éoi)q 5@%03{5 DI
3,030dw
(A) Ratio of the output V,(t) and input V(t).
B RE V(1) DR G IE V()
SRR

(B) Ratio of the derivatives of the output and
the input.

BOBRTF I BeF eI DR AR REF

\t;{&mma

) Ratio of the Laplace transform of the output
and that of the mput with all initial
conditions zero.

SDIIR’ 397, FoF VeI Ye3* DB
QA YEF VD TB WeST DU TYTOYPS
3B BT,

(D) None of these
QRIMYO Ao 9o

65. For a fault at the terminals of a Synchronous

Generator, the fault current 1s maximum for a
Q08REITTF BITeWD' I LI IO

deeamnen mud) deead JB)E 58063
QDD

(A) Three phase fault
[RD PeeF Bpew

(B) Three phase to ground fault
D) PeeF JOT MO0 Beew

(C) Line to ground fault
B 303 ByeneDOT MP)0T Weea
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(D) Line to line fault
adJ?Sa‘ B08 NERDOT V3T 303

DINEB TeeR

66. If a spring i1s cut down into two springs the
stiffness of cut spring will be

2,00 J{’:@on‘ ), TR t{):})OHC
33039men 3303 ot I
OTINBT ?
(A) half
Rlala

(B) same
e9z3e (00838 J)

(C) double
Q,roes

(D) unpredictable
PNHITMDH DO

attola!

9—63"56

Ve

67. Hermatically sealed unit implies
BREEIBO etk A HI, VRWBDIT 2
(A) Compressor 1s sealed
B0,V0° ) e ByerereNd ?‘
(B) Compressor motor is sealed &&
B0)VO° et3TRY deesf dn‘ado‘a&g’,
(C) Compressor and motor are sealed
30z3,00° @) Feets0’ NYSTERY, dees
IR {Srialat

(D) Complete refrigeration unit is sealed
SedBean’ Ay, RpSraiyen deesf

BN

68. Which of the following UNIX tools receives
input only from the standard input ?

8 3YNT ood cdnASE Lpef MY A’ e
S, ) ADFR, VN REF 0T
BDEIPRIS 2

(A) awk.

(B) grep.
(C) sed.

13

¢

(D) tr.

69. A two stage amplifier with negative feedback
has on overshoot when damping factor "K" is

QTR BOBW NI HeTF APE DR ODTI
esoc?;mééo‘ adroad masoc?:on‘ a’n’ao?j
O BB

(A) less than unity
00333,03 BB

U n"

(B) greater than unity
uodaéoé D),

(C) Zero
TR

(D) Negative
303,03 BB (V52003 3)

70. Which of the following sections performs
better on the ductility criterion ?

3YNS  section MNYO A section
@&uctility criterion" dg{ VBTN
QY dsrez3d
(A) Balanced section
W3 F JIZRF
(B) Over—reinforced section

LTO* _ DR’ e JIF

(C) Under—reinforced section
0BT - OAR* PpeIFTF JIZX®

(D) Non—prismatic section
DR’ — TF By tds’ I

71. The early effect in a Bipolar junction
transistor is caused by

3 cpeerdd’ RO QAITT IO g,
DOTFOR VOLIINEY S0

(A) Fast turn — ON
Sen@eN 38 SRR BO0T

(B) Fast turn — OFF
FenoeN 35 IR TO0T

(C) Large Collector — Base reverse bias
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Bed), BUBF - e DI 23, 0F

(D) Large emitter forward bias
D), DDEIT® HODTEFE o3 ;0rox’

72. Band refers to
méoa‘ Q0BT

(A) the number of bits transmitted per unit
time.

208 GWBEF FROVBO BIADE Ve
RY ol

(B) the number of bytes transmitted per unit
time.

206 AR FRAWBS BT o8¢
Rv Kog;

(C) the rate at which the signal changes.

AN B BT

(D) Bandwidth in terms of bytes.
63 N¥O TePBMDT W08 T

73. How many gold medals are won by Indian
Mens Hockey team in Olympics so far ?

036 YIRS B8 0T RODBIN

20025, IO o), BIB B3 1O 2
(A) 8
®)4
(C) 10
(D) 12

74. Who among the following leader is known as
" Kannada Kula Purohita" ?

8 3YNS oedRY " BI B B PTReHI "
Q0B NPTSD0T FTAWBT ?

N

(A) Nittoor Srinivasa Rao
QLR D BeATIRTID’

(B) Alur Venkata Raya
£300) S0BE3T0D

(C) T.S. Venkannaiah
e3. OFF. Sozegady

(D) K.V. Puttappa
3.0 B3

,S?‘

X

14

QO

75. Gear box in automobiles is placed between

OBV riecs e, Jy, @Y DETO

LolorsIdriatag

(A) Clutch and differential
53 DB) BFT), abesf

(B) Steering and engine
2e00rf DB) ROR’

(C) Engine and clutch
QOB DB B

(D) Differential and Hooke's joint
B33 ohef B DS 2e0D0EF

76. The unit of heat is
T2 B 0WAEF ORD ?

(A) Kelvin
3O

(B) Celsius

T

) Watt
GONAY

(D) Joule
oS

77. World's first History book "Historia" was
written by

D33 Iede 8303,  (VETIT) VIS
&I edaiye" SR WTTSD

(A) Herodotus
&edRTIIR®

n

(B) Archimedes
£33 DBEF

(C) Socrates
Do3,Edes’

(D) Charles Darwin
I € TOIFR®

78. Who is the author of "Malgudi Days" ?
"SreeB Fex® " dow By3ah JedT adyed)

?
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(A) R.K. Lakshman
eof. 3. 0y &

(B) Shankar Nag
30B0BJery

(C) R.K. Narayan
€30°. 8. Jo0aaLE’

(D) Chetan Bhagath
B3 JIneF

79. Which of the following tests must be
performed on a transformer to determine its
leakage reactance ?

A& OIS0 OFees D33 X 0w
SR BYr 3LIDS ddrea @B0erY')
B eD) 9

(A) SC test only
SC 30eg8 Z93,

(B) OC test only
OC 308 393,

(C) Both OC & SC tests
OC @3 SC B30eZnw

(D) Test by an impedance bridge
QOJTBRE, Dy B0eF

*

80. Which of the following is not a computer
programming language ?
8 3YNI oY@ Neaz 0BT &3)eMe)0
ez oiren 2¥30HODZHDL 2
(A) C++

Q ++

(B) COBOL
BpeeToes

(C) JAVA
(<AL

(D) MS-EXCEL
QODT_ casmuf

81. The spectral density of white noise 1s
White noise & spectral density 03yoeyorie

,@?‘

15

(A) Exponential

Exponential 8N33
(B) Uniform

Uniform 8ND33
(C) Poisson

Poisson 8N3T

(D) Gaussian
Gaussian 8ND3T

82. At approximately what height above the Earth
does the Geostationary orbit is located ?

Balee FeRIO 38 weNA0T T WD
om) OBVTOT 9
(A) 80,000 km
80,000 Scbe

(B) 16,000 km
16,000 3cbe

@6,000 km
Q/ 36,000 3cde

?9 (D) 48,000 km

48,000 3ce

83. Which of the following sorting algorithm has
the worst case time complexity of n*log(n) ?

8 YN @ JoNBS FRT erdTI*
S (OSE@J Fod Jodeerr30dn
sNDIT 2

(A) Bubble sort
WO T3’

(B) Quick sort
3.5° ToL3

n*log(n)

(C) Insertion sort
QR0 @ DL

(D) Selection sort
RIB® Tot3r

84. Which of the following are
characteristics of a RISC Machine ?

8 3YNI abeY@ RISC abo3T e8B3e23e3

typical
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5,38 SriveND 3 2

(A) Instruction taking multiple cycles
00T, 03 B BTSFFIVNY)

BDHEIPNT 3TN
(B) Non—pipelined
DR - B, I,
(C) Instruction interrupted by microprograms
B3Ry Ze,RrF NPT SEabhe) €3
£33 3N

(D) Multiple register sets
B OBV OF o)

85. Which semiconductor power device out of the
following is not a current triggered device ?

8 39308 JDI0BB T BT, 7 NYO
YD 330 o3
3o denrin PTeerhz)de 2
(A) Thyristor
3,035 0°

(B) G.T.O.

(C) TRIAC
&3, 04503

(D) MOSFET
D’ D3’

86. Indias indigenous light combat aircraft
designed by HAL is named as

ApleR e R RAVEIN R el (HAL)
BodedADE ShdTF20ZD BT T
ATTB BITERD 2

(A)LCA-HAL-1

QF. . Q. — DI _ |
(B) Virat—1

QUOEF _ ]
(C) Tejas

3R’

16

?.0 3T Jo0dRe>By)

(D) Vayuputra
87. Who is the present Vice—President of India ?
033 BB LVBOR TS e ?

(A) Pratibha Patil
2870 motdees®

(B) Hamid Ansari
Ber* w90

(C) Ramesh Jairam

Tce® &5,
(D) Kalyan Singh
BUYE* dOrF

88. Two 2 H inductance coils are connected in
series and are also magnetically coupled to
each other, if co—efficient of coupling 1s 0.1,
then total inductance of the combination can
be

2 H Q0T3S c\nd)@oi)m 0ex* IO
Q/ B B3 Jrari eIz 2eedITon vris

01 30 WED,

Roadeead qzoci’é =

(A) 0.4H
(B)32H
(C)4H

(D) 3.6H

89. An attribute of one table matching the
primary key of another table is called as

20T Be3ob LD VIR, Bed ob @O
Seodb) TeeenBTRe T

(A) Foreign key
DoO® 3¢

(B) Secondary key
V3030 3¢

(C) Candidate key
So,087ees* 3¢

(D) Composite key
Bo0TLAEF e
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90. The use of capacitor filter in a rectifier circuit

gives satisfactory performance only when the
load

03 55,0° 58@5&3‘ SO Bmadedes 0 0°
VB 3RLAITIN BRTP BT
S0 fDrdEHBAIL mtjémmd)d) d@e&dq

(A) Current 1s high
BT0L3F 25 @wan

(B) Current 1s low
3003 BB @wn

(C) Voltage is low
3ped eeF B, AwIN

(D) Voltage 1s high
peed e 2593 @I

91. Static indeterminacy of a two hinged arch is

QTR eNnWY, BT Static
indeterminacy esNDIT
(A) Zero Section Engineer & Station Controller
25@36 POST Offline & Online Classes
{. Section Enginesr I;:)
B One 2, Btation Contralier .m-._n"",l'_ .
O lE Coaching
236 BRECE Rocrus-sc-
(C) ThIee Apglication Last Date #2230 15 F-53
Swd  T.T.T ACADEMY Bengaluru-58
(D) Two | TECHNICAL TEACHING & TRAINING ACADEMY
s Contact for Details : 9986869966 / 9986869955
92. The X : R ratio of 220 kV line has compared
to 400 kV line , then 400 kV line is
X : R 0D@e33 220 kV SenieaD, 400 kV
B B3 DU elkwen 400 kV
SenEwy)
(A) Greater
Sed)
(B) Smaller
BN
(C) Equal
AVDIY
17

(D) it could be anything
SRvpiaieloNCIalerAL N al)

93. In a common emitter amplifier,
unbypassed emitter resistance provides

the

Common emitter amplifier S0 unbypassed

emitter resistance ORI, LBADBT 2

(A) Voltage—shunt feedback
dped e B e W .

(B) Current—series feedback
BT0EF — eOTF e (AR

(C) Negative—voltage feedback
Sneds’ — Fped e Herd (ADR

(D) Positive — current feedback
DI — BT0LF HerE (AR

94. Which BJP MP has been elected to Rajya
Sabha recently from Karnataka Assembly ?

g&eﬁﬁ B E3B Doy 00T Doty B
\&mﬁodmd DB S0d 90 adyed 9

9 (A) B.S. Yedeyurappa

D.OF. o.baomadq

(B) Nirmala Sitharaman
ADED DEBT0

(C) Uma Bharathi
eV 23903

(D) Smrithi Irani
0,3 RON)

95. Which of the two diseases have been reported
to be the cause for highest number of global
death of children in India ?

WUBRY BN $08F,0he) D3,¥ e
Fo06 NS TR aoLednw ooy 2

(A) Pneumonia, Diarthoea

SR aeedalre. ©;obedaiye

(B) Measles, Chicken Pox
e, 3B FoF’,

(C) Rubela, Whooping Cough
TeeieeT, Fpdort B3,
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(D) Measles, Rubela
eRer , deedeerd

96. For a constant value of coefficient of lateral
friction, the value of required super elevation
mcreases with

ANOB MEB DB F TRFE VU@ Super
Elevation S 350 BB N33

(A) Increase in both speed and radius of curve

geri Torh SWAN B, OB
B3 DT

(B) Decrease in both speed and radius of curve

aent Borh WIS 32 TR
lalnipigttaiatelola)

(C) Increase in speed and decrease in radius of
curve

aen @3N Tord SIS Sy
lavinipiatviatelela)

(D) Decrease in speed and increase in radius of
curve

Sent 3BH0dreN Forh ST By,

eI HRBO0T
¥

97. A serial R-1—C circuit has R = 50 Qf(\ -
100 pFand C=1 pF. The lower hﬂfﬂpower
frequency of the circuit is

R=50Q,L=100 pF3FC=1puF
BRODIDS serial R-L-C DBREEF I Lower

half power frequency O, ?

(A) 30.55 kHz
(B) 51.92 kHz
(C) 3.055 kHz
(D) 1.92 kHz

98. End to End connectivity is provided from host
to host in

dfaemf; - B - ﬁroemf! o]} udﬁﬁ%md
QOTF - £3) - QOT PR AZA VLI

(A) Network layer
eI I Jeohof

X

18

(B) Transport layer

E3,RF, Zpees’s eJecdo
(C) Session layer

@~ Jeadof

(D) Network and Data link layers
SeF ST Hore Botde OB efeahof

99. Which of the following is not an assembler
directive ?

8 3YNS aoYch ¥TJowo® B,;83° ©e 2

(A) START
9, e3e
(B) LOAD
edpecE
(C)BYTE
déw‘
(D) END
Loz

0
&he diffusion potential across a p—n junction
p-1n BOZY S BFRH@EN’ e, 0deSf

(A) decreases  with  increasing  doping
concentration.
ERedONT Hox 0t ear’ &3 MHTBO0T
3BDTHBT

(B) increases with decreasing band gap.

90T My’ 38D BWeRDPTO0T
B NBT

(C) does not depend on doping concentrations.
BRed0nt S otdear’ shed
e AD gV IALS

in  doping

(D) increases  with increase

concentrations.

ERedONT Hor 0t ean’ &3 HBO0T
B HBT
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